i

o> _Jjor eF 101

506 [ 506 BODYWORKS

code description #g//‘ﬁmﬁ
(BF)
1A |BDW-FS506 FRONT SPOILER MOD.506 BLACKWITH DEFLECTORS (003-BF—45) ¥13,800
1B |BDW-FS506-WH FRONT SPOILER MOD.506 WHITE WITH DEFLECTORS (003-BF-45) ¥13800
3 |KIT-BDW-BMPCLP FRONT BUMPER CLIP (2 pieces) ¥5,200
4 |BDW-BMPFST FRONT SPOILER FASTENING ¥2.000
5 |BDW-LWFRSUP506 LOW FRONT SPOILER SUPPORT CHROMED ¥4,200
6 |BDW-HHFRSUP506 HIGH FRONT SPOILER SUPPORT CHROMED ¥5200
7 |KIT-BDW-PLTFRT FRONT SPOILER PLATE (2 pieces) ¥3200
8 |KIT-BDW-PLTFRT15 2015 CIK-FIA FRONT SPOILER PLATE (2 pieces) ¥8,600
9 |KIT-VT-WS0612 WASHER 06x12MM ¥70
10 |KIT-VT-SC0620CH SCREW CYLINDRICAL HEAD M6x20MM ¥100
11 |KIT-VT-NTO6SH NUT SELFLOCK HIGH M6 ¥80
12 |KIT-VT-SC0630CH SCREW CYLINDRICAL HEAD M6x30MM ¥100
13 |KIT-VT-SC0625SH SCREW COUNTERSUNK HEAD M6x25MM ¥100
14 |KIT-VT-WS0620CH WASHER COUNTERSUNK 06x20MM TITAN GOLD ANODIZED ¥220
15 |KIT-VT-SB0620 RUBBER WASHER 06x020xH5MM ¥130
16 |KIT-VT-NTO6SL NUT SELFLOCK LOW M6 ¥80
17A |BDW-NP506 NASSAU PANEL MOD.506 BLACK ¥5,100
17B |BDW-NP506 -WH NASSAU PANEL MOD.506 WHITE ¥5,100
19A |KIT-BDW-H506NPSUP MOD. 506 HIGH NASSAU PANEL SUPPORT KIT CHROMED (R+L) ¥6,400
20 |BDW-HLDLWSUP LOW NASSAU PANEL SUPPORT CHROMED ¥2.000
21 |KIT-VT-SF0612PN SAFETY PIN L12MM ¥580
22 |KIT-VT-SFSPLNH NASSAU PANEL SAFETY SPLIT PIN ¥120
23A |BDW-SP506 SIDE BODYWORK MOD.506 BLACK (003-BS-54) ¥8400
23B |BDW-SP506-WH SIDE BODYWORK MOD.506 WHITE (003-BS-54) ¥8,400
25 |KIT-BDW-FSDFL 506 FRONT SPOILER DEFLECTOR KIT ¥4.200
26 |BDW-LFTSUP506 506 / DUO EVO LEFT BODYWORK SUPPORT CHROMED ¥8,600
27 |BDW-RGHSUP506 506 / DUO EVO RIGHT BODYWORK SUPPORT CHROMED ¥8,600
28 |KIT-VT-SC0635CH SCREW CYLINDRICAL HEAD M6x35MM ¥100
29 |KIT-BDW-BMPBSH SIDE BUMPER BUSH ¥640
30 |BDW-RRBDW REAR SPOILER MOD.CLOB BLACK ¥14,800
31 |KIT-RRBDWSUP REAR SPOILER SUPPORT KIT ¥12,900
32A |KIT-RRBDW30 REAR SPOILER MOUNTING SCREWS KIT (030MM) (RIGHT + LEFT) ¥7.400
32B |KIT-RRBDW32 REAR SPOILER MOUNTING SCREWS KIT (032MM) (RIGHT + LEFT) ¥7.400
33 |BDW-RRBDWRS3 REAR SPOILER MOD.RS3 BLACK ¥21,300
35 |KIT-BDW-SPR1258 BODYWORK SUPPORTS SPRING 12x58mm ¥420
36 |KIT-VT-SBNSPN NASSAU PANEL ANTIVIBRATION RUBBER KIT ¥420
37

2022 IPK ACCESSORIES / REV.001




2022 IPK ACCESSORIES / REV.001



